Vypracuj pracovní list – velké opakování sčítání a odčítání:
1) Zapiš čísla pod sebe a sečti je:

925 + 593



724 + 193



3278 + 164

2269 + 755


156 + 571 + 34


337 + 574 + 62
4808 + 105 + 4098

6056 + 750 + 3280


6556 + 9 + 934 + 36

2) Zapiš čísla pod sebe a odečti:
965 – 139



648 – 149


3621 – 235 
83203 – 255


42000 – 8500


19000 – 8600

372653 – 13248


587587 – 23391

19563 – 939 
3) Vypočítej:

(630 + 228) – 41 =






630 + (228 + 41) =

(630 – 228) + 41 =

630 – (228 + 41) =

4) Zkontroluj:

 3 736



6 253




29 070

-1 812



-  571




   - 112

   3 924



   682




29 968

